
Meosures of Centrol Tendency

The meon is the overoge of o set of numbers. To find the meon, odd oll the numbers ond
divide by the number of oddends.
The mediqn is the middle number of o set of numbers. I[ there ore two middle numbers,
the medion is the overoge of the two.
The mode is the number thot oppeors most often in o set of numbers.
The ronge is the difference between the greotest ond the leost number of the set.

Exomple: lr2, | 5, lB, 23,8, lO, ond | 2
Meon: 12+ 15+ 18+23+8 + lO+ 12:98 ?: l+

To find the medion, orronge the numbers in order. 8, 10, 12, 12, lS, i'8,23
Medion: 12 Mode: 12 Ronge: 23 - 8 : 15

Find the medion of 8, 6, 5,7, 2, ond 10. 2, S, 6,7, g, lO
The middle numbers ore 6 ond 7. Medion is f : 6j.

Find the meon, medion, mode, ond ronge of eoch set of numbers. Show your work.

qb

l. 32,35,25, +3, +3 8, 12,23, 12, 1.5
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2. 10, 18, 12, l+, 12, 12
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52,61,79,79, 56,79,71
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17,15, 15,29,20,26
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37, 50, 67, 93,3+, +9,37
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